396-001620

Z-Mount Tank Bracket
Installation Instructions

SUrelire
Ag Systems

Kit Number: 526-01-100100
Kit Description: Z-Mount Tank Mounting Kit (Fits 4”W x 5”H bars)

Kit Number: 526-01-100200
Kit Description: Z-Mount Tank Mounting Kit (Fits 4”W x 6”’H bars)

Kit Number: 526-01-100300
Kit Description: Z-Mount Tank Mounting Kit (Fits 5" to 7" W bars)

396-001620 - Z Mount Tank Bracket Page 1 Revised: 1/22/2016
Instruction Sheet © 2015 SureFire Ag Systems, Inc.



\ |

f‘% Parts List and Exploded View
SursFire  Kits: 526-01-100100 and 526-01-100200

Ag Systems
ITEM NO. |PART NUMBER |DESCRIPTION QTY.
1 400-2019A1-BK  |Z-Mount Tank Mounting Bracket 2
2 400-2015A1-BK  [Z-Mount Tank Mount Backer Plate 2
3 300-100200-5 5/8” x 2” Hex Head Bolt - G5 4
4 323-10 5/8" Flange Nut 4
5 330-10 5/8" Flat Washer 4
6 300-120800-8 3/4” x 8" Hex Head Bolt - G8 4
7 320-12-8 3/4” Nut - G8 4
8 330-12-8 3/4” Flat Washer - G8 8
9 331-12-8 3/4” Lock Washer - G8 4
10" 400-3191Y1 1-3/4"0OD x 5" Spacer Bushing for 4" Toolbar 4
10° 400-3192Y1 1-3/4"0OD x 6" Spacer Bushing for 4" Toolbar 4

1. Spacer bushing provided with Kit #: 526-01-100100, (Fits 4"W x 5”H bars)
2. Spacer bushing provided with Kit #: 526-01-100200, (Fits 4’"W x 6”H bars)

SureFire Accelerator (55, 110 and 155 gallon) or Catalyst™ (565 and 100 Gallon) tanks can
be mounted above and offset from a toolbar using this z-mount bracket. The kits with spacer
bushings are for toolbars that are 4” wide. The kit includes 3/4” x 8” bolts to work with a 5-6” tall
bar with the use of a 5” or 6” tall spacer bushing.

396-001620 - Z Mount Tank Bracket Page 2 Revised: 1/22/2016
Instruction Sheet © 2015 SureFire Ag Systems, Inc.



\ |

Sureffire
Ag Systems

Parts List and Exploded View

Kit: 526-01-100300

ITEM NO. |PART NUMBER |DESCRIPTION QTY.
1 400-2019A1-BK  |Z-Mount Tank Mounting Bracket 2
2 400-2015A1-BK  |Z-Mount Tank Mount Backer Plate 2
3 300-100200-5 5/8” x 2” Hex Head Bolt - G5 4
4 323-10 5/8" Flange Nut 4
5 330-10 5/8" Flat Washer 4
6 300-120900-8 3/4” x 9” Hex Head Bolt - G8 4
7 320-12-8 3/4” Nut - G8 4
8 330-12-8 3/4” Flat Washer - G8 8
9 331-12-8 3/4” Lock Washer - G8 4

A

y///A

SureFire Accelerator (55, 110 and 155 gallon) or Catalyst™ (65 and 100 Gallon) tanks can
be mounted above and offset from a toolbar using this z-mount bracket. This kit attaches to 5” -
7” wide toolbars. The kit includes 3/4” x 9” bolts to work with a 7” tall bar.

396-001620 - Z Mount Tank Bracket Page 3

Instruction Sheet

© 2015 SureFire Ag Systems, Inc.

Revised: 1/22/2016



Sureffire
Ag Systems

General Dimensions

SureFire Catalyst™ System

The mounting brackets can be adjusted under the
Catalyst™ tank base using any of the multiple slots in

MICED VOLUME ARPLICATION svysTeEm [he tank base for flexible mounting options.

55 Gallon

[28.62in]
727.05mm

[53.69in]
1363.68mm

[21.69in]
550.88mm

— )

_| [10.00in] |-_

110 Gallon

[19.95in]

254mm

(32.17in]
817.06mm
—

506.66mm

—_—

_1 [10.00in]

f—

254mm

396-001620 - Z Mount Tank Bracket

Instruction Sheet

[52.92in]

—

1344.10mm

=

[4.35in]
110.55mm

L

MAX

@.%. o 5[7252..2655!:%——@ . i
£ £

[58.67in]

[20.46in]
519.76mm

Page 4

I

1490.15mm

e
a3 1

© 2015 SureFire Ag Systems, Inc.

% fo——73675mm——{{llf
| MAX
!
!
!

|-

[29.01in]

EA:.E.LB

Revised: 1/22/2016




Sureffire
Ag Systems

Instruction Sheet

SureFire Accelerator Tanks
General Dimensions

\Overoll Height 56.2in

(55 & 110 Gallon)

Rinse tank valve
can be removed to
reduce by 3 1/2"

-l ©
[64.6in] il
1642mm ony o
Overall Height Q
(155 Gallon) B
h_o° o o o J
[21.3in]
54Tmm
Over Planter
Toolbar
[ } Possible vacuum
I 7 tube location
[2.4in] i ] [21.8in]
61mm e 553mm
Forward of Planter Rearward of

Toolbar

& '

396-001620 - Z Mount Tank Bracket

Planter Toolbar

LPIon’rer box shown
in extreme up position.
(If applicable)

The mounting brackets can be adjusted under
the Accelerator Tank base using any of the
multiple slots in the tank base for flexible

mounting options.

Page 5

© 2015 SureFire Ag Systems, Inc.

Revised: 1/22/2016



ﬂié%

Surefire
Ags_ysléms

SureFire Accelerator Tanks

General Dimensions

[18.5]
470

[0.7]
17

(38" BOLTS

55 Gallon Tank

BLACE POLY
RIMSE WATER
TANE

3/14" STEEL BASE WITH
BLACK POWDERCOAT

10%&mim

WHITE POLY

316 STEEL BASE WITH
BLACK FOWDERCOAT

II"—E_AC k. POLY
FINSE WATER
TAME

110 and 155

Gallon Tank

155 shown - 110 Gallon
only differs in total height.
110 Total Height is 34.9 in.

[72.6in]

845mm

396-001620 - Z Mount Tank Bracket
Instruction Sheet

Page 6

Revised: 1/22/2016

© 2015 SureFire Ag Systems, Inc.





